Digits := 24;

var( = evalf (Pi);

var] — var(
20°
varl
2 = ;
var 20 °
evalf (sin(var0) );

evalf (sin(varl) );
evalf (sin(var2));
evalf (cos(var0) );
evalf (cos(varl));
evalf (cos(var2) );

evalf (tan(var0));

evalf (tan(varl));

starting _demo5 = 1.0;
evalf (tan(varl));

starting demo6 := 1.0;

evalf (tan(var2));

Digits =24

var() :=3.14159265358979323846264

varl :=1.57079632679489661923132

var2 :=0.785398163397448309615660

3.38327950288419716939938 104
1.00000000000000000000000
0.707106781186547524400844

-1.00000000000000000000000

1.69163975144209858469969 107*

0.707106781186547524400845
-3.38327950288419716939938 107

5.91142410284172127530836 10>

starting_demo5 := 1.0

5.91142410284172127530836 10>
starting_demo6 := 1.0

0.999999999999999999999998

evalf (arctan(tan(var2)));

starting demo7 = 1.0;

var( := 0.1;

0.785398163397448309615660
starting _demo7 :=1.0

var0:=0.1

varl = evalf (arcsin(var0));

varl :=0.100167421161559796345523

var2 = evalf (sin(varl));
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var2 :=0.0999999999999999999999998

varl = evalf (arccos(var0));
varl :=1.47062890563333682288580

var2 = evalf (cos(varl));
var2 :=0.0999999999999999999999985

varl = evalf (arctan(var());
varl :=0.0996686524911620273784461

var2 = evalf (tan(varl));
var2 :=0.100000000000000000000000

starting demo8 = 1.0;
starting _demo8 :=1.0

val) = 0.1 +0.2 [,
val) =0.1+0.21

vall = sin(val0);
vall :=0.101836749421297431265464 + 0.200330161148815697693005 1

val2 = arcsin(vall);
val2 :=0.0999999999999999999999995 + 0.200000000000000000000000 I

vall = cos(val0);
vall :=1.01497067070262246171453 — 0.0201000610276918876782181 1

val2 := arccos(vall);
val2 = 0.100000000000000000000008 4 0.199999999999999999999984 1

vall = tan(val0);
vall :=0.0963881308564542321977242 + 0.199284151059610479679066 1

val2 = arctan(vall);
val2 :=0.100000000000000000000000 + 0.200000000000000000000000 I

starting_demo9 = 1.0;
starting demo9 :=1.0

val0 := 0.3 +0.21
val0 =03 +0.21

vall = sinh(val0);
vall :=0.298450161881951745363302 + 0.207676703056284355833281 1

val2 = arcsinh(vall);
val2 = 0.300000000000000000000000 4 0.200000000000000000000000 I

vall = cosh(val0);
vall :=1.02450134022792070917202 + 0.0604988429126594891630598 1

val2 = arccosh(vall);
val2 :=0.299999999999999999999998 + 0.200000000000000000000001 I

vall = tanh(val0);
vall :=0.302229128907772146912645 + 0.184862804006414547351767 1

val2 = arctanh(vall);
val2 :=0.300000000000000000000000 4 0.200000000000000000000000 I

vall = log(val0);
vall == -1.02011041426327731599125 + 0.588002603547567551245611 1

val2 = exp(vall);
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val2 :=0.299999999999999999999999 + 0.200000000000000000000000 I

> starting _demol( = 1.0;
starting demol0 :=1.0

> (exp(1.0))*;
1.64872127070012814684865

> val == 10g10(10000.0);
val := 4.00000000000000000000000

> 10.0"%
10000.0000
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